10 (—1,-2) & (3,-2)
Sol: 4
11) (0,2) & (-2,6)

Sol: \/%

M) Determine if the set of ponts forms the vertices of a right triangle.
12) (L1)& (3,4) &(0,6)

Sol: Yes

13) (-2.3)&(2,9) & (—4,13)

Sol: Yes
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1) The whole number in W is

BB [E-12 @53 bl

2) The whole number in W is

- W12 €05 Dl

3) The whole number in W is

W-2 [6lz WO ] —3.2

4) The whole number in W is

-2 [Er 32 W25

5) The integer in Z is

BV B2 E53 E[%

6) The integer 1n Z 15
T W12 [c]53 [pl 32

7) The integer in Z is

A [BlvV-2 153 BWo

8) The integer in Z is

Wz [EN2 B-B @53

9) The irrational in I is

W12 [5lv-2 ¥4 [B0

10) The irrational in I is
2 == _
5 2] V-2 0 Hs




11 The rational in €@ is
2

WS [EV2 @ o

12) The rational in €@ is
@B BE-V2 ¥4 @25

13) The rational in ) is
2 =
5 LS ¥4 [B1-2

14) The natural number in N is

W 4 @4% B8 =i

15) The natural number in M is

B2 [EoO k¥ [E-12

16) The real number in R is
S Y VAR [T

17) {x eR|-3<x <3} =

B33 B(53) @3] B-3)
18) {x eR|-2<x <5} =

23] W25 @(25] B[25)
19) {x eR|-2<x {S}=

28] @ (23) B(25] m[29)
20) {x eR|-2<x 55} =

@23 B (25) W(25] B[)

21) {x eR|r <-2}=
& (-—m,-ﬂ] (—I::::,—Z) (—2,':'3) D] [—2,0@)

22) {x eR|x 2-2}=
(—0,-2] (—0,-2)
(-2,0) & [-2,@0)

23) {x ERlx {—2} =
4l (—=,-2] W (-»-2) El(-2%) [bl[-2%)




24) x eRjx >-2} =
4 (-0-2] 8] (—-2) @ (-2=) BI[-2x)

25) 6 ¢
4l R N /@ BT
26) 32e
Z N BQ [pll
27) —[6 &
AW [BIN /@ HI
28) Qc
BR [N W I
29) £ o
Q N W ER
30} W<
%] N I EZ
31) -7.2|=
-72 W72 +7.2 -9
32) 0.14 — 7| =
3 314 183 B3
33) The distance between the real numbers —5, 6 is
—-11 " N ~—1 [D] 1
; 15 23 .
34) The distance between the real numbers —, E is

1 1 1 1
Al —— Bl +— ] — ——
24 24 - 12 H 24

35) The distance between the points (—2,—5) and (3,1) is
B Vel B VI5 [ 37 J11

36) The solution of [3x +2|=11is

3 1

13 13
e —-——.3 ] D3
4] 13’3 o] 3’ 3

37) The solution of [8x —3|-2=51is

15 15 1 5
et e —=— | —— Dl —
W7 Bl B~ B




38) The solutionof =2 <2x +1<6 is

021 wea a3 (-3

39) The solution of [x ~4{<12 is
(—o0,~8]U[16,0) [l [-8,16] €] (~o0,—~16]U[8,0) [D] (-8,16)

40) The solution of II + 6| =31

M (-, -11]JU[-Le) [ [-111] (f,]]l_}[ll,co)@(l,ll)

41) The solution of |x —3|>5 is

(= 2JUB>)  B1[-28 B (~-2)U(E) B(-28)

42) The solution of |x - r-i-| =3x -8 is

M1 [BEl-6-1 P16 [B]6
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